496 THE TARIM DELTA.

After the llek has collected itself together, that is above the point where it
cends off its arms to the Kara-kol and Avullu-kél, and below the point where it
receives the overflow of the Tschivilik-kol, p/zs the Bos-ilek, I took measurements of
it, with the following results: breadth, 19.9 m.; mean depth, 2.203 m.; mean velocity,
0.0080 m.; and volume, 39.80 cub.m. in the second. The greatest velocity in this
section occurs at a depth of 1.5 m. from the surface. On both sides of the river
are extensive marshes, which, although they are in constant and uninterrupted com-
munication with it, nevertheless contain stagnant water. It is possible that under
the right bank there may be one or more small channels creeping through the
kamisch, but these we could not for that reason get at; if so, their volumes ought
to be added to the total I have just given above.
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Breadth = 19. m. The Bos-ilek a little above Avullu-kél; April 30. Scale = 1: 200.
After that we measured the Bos-ilek above all the little kok-alas which it re-
ceives from the Tschivilik-kol, the measurement being taken at the end of the excur-
sion so as to ensure that we included none of the water from the lake in question,
for the direct overflow would hardly be likely to advance so far up. The breadth
was 20.2z m.; the mean depth, 2.631 m.; the mean velocity, 0.2485 m.; and the volume,

13.22 cub.m. in the second. On the 1st April 1896, two days’ journey higher up,
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| Bos-ilek above the branches from Tschivilik-kél; April 2o.

v velocity.

Breadth = 20.2: m. Scale = 1 : 200.




